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1. New growth theory

A) states that the rate of technological change is determined outside the
working of the market system.

B) does not adequately explain the factors that determine productivity.

C) states that the rate of technological change is caused by economic
incentives.

D) states that the rate of technological change is caused by random events.

2. Anincrease in the purchasing power of money would not, on average, result
in an increase in the purchasing power of people’s income because a
price level would likely mean wages and salaries.

A) rising; falling
B) rising; rising
C) falling; falling
D) falling; rising

3. In a Bertrand model, market power is a function of
A) marginal cost.
B) the number of firms.
C) price elasticity of supply.

D) product differentiation.

4. Suppose that for each firm in the competitive market for potatoes, long-run

average cost is minimized at 20 cents per pound when 500 pounds are

grown. The demand for potatoes is Q = 10';)00. If the long-run supply curve

is horizontal, then how many pounds of potatoes will be consumed in total?
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A) 50,000
B) 10,000
C) 0
D) 500
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5. The above figure shows Bob's utility function. He currently has $100 of
wealth, but there is a 50% chance that it could all be stolen. Over and above
the price of fair insurance, what is the risk premium Bob would pay to
eliminate the chance of theft?

A) $0.
B) $20.
C) $30.

D) $50.
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1. Mergers between/among firms can be characterized into two types:
horizontal mergers and vertical mergers. Explain the difference of these two
kinds of mergers, as well as that of their welfare effects. What are criteria
the government looks into for deciding whether a merger between two firms
will be allowed or challenged? Which kind of merger is more likely to be

challenged by the government? Why? (15 %))

2. If expectations are adaptive, how will the economy adjust to a new long-run
equilibrium in response to expansionary monetary policy? Support your
answer with a graph of the Phillips curve. (10 %)

3. A consumer has the quasi-linear utility function:

U(qr,q2) = 6447 + qs.

Assume that the price of good 2 p, = $1 and income Y = $100. Find the
consumer's compensating and equivalent variations for an increase in p;
from $1 to $2: (15 %)
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